0 [ Present Tense Jla 4l ]

By removing last ¢y from Persian infinitives, we get the simple past of the verb
such as from ;i&ls we get cosls (He/She had) and from (yals we get sls (He/She
gave).

Each infinitive has its imperative called " s!". The present tense of action i.e. verb
is formed from the imperative by adding personal terminations to it, as Infinitive
oidly (to have) has its imperative yls . By adding terminations toyls we get verbs of
present tense (indefinite) as:
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I have. aold = a4l
We have. pols = ol
You have. st = ¢+l
You have (plural). Lyls = W+ Ll
He/She has. s — 3+ ks
They have. Lols = &+ Ll

A ed eds ¢ <ps <a  are personal terminations, also known as personal endings or

Lulids.

1. 1 have money. plddsa e )

2. We have Persian book. ol ool oliSLe Y

3. Do you have a copy of Gulistan-e-Sadi?  jliwl€ s el o3 LJ Ry
/ Csuld e

4. Do you have motor car? Cuyls puibe Luts LT ¢

5.  He/She has one bag. Aols el o) Lo

6. They have flowers. A yle g€ plagl A
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Complete the following sentences of present tense: Néﬂuycﬁ Jlai'«l.]df},y,«:f
I have a book. a8 Gl e
We have water. .. ol Le
You have almond. ... alals g3
You have pomegranate. ... Hbl L
He has an apple. ... gl
They have bread. ... ob oli)

{Aorist ¢ JL@}

Aorist is a part of speech which expresses an indefinite clause indicating both

present as well as future tense. It is formed by adding 4 to the imperative of an
infinitive. For example infinitive (s, has its imperative 3. By adding J to it we get
435, which means he may go. The letter 4 is replaced by personal endings according to
person and number. Example: The infinitive OAAT has GT its present stem 1i.e.
imperative. A,gT is its aorist or ¢ skas Jas. Thus we get ﬁ,‘. (I may come), ﬁ.:T (we may
come), UﬁT (you may come), A&T (you may come/plural), A,"T (he/she may come) and
..u.:T (they may come). Generally < (u) is added to the aorist. For example: ¢ &<y

394 < dala.

s o MBI P16 e 6o 26 e U 2 L D
S K e et e gy e LS U1 sy e K () iy
Lo S e T e L8 U U1-6T e 18 (D) gl e LA ST bt K
e LGS LA PuiS e LG e oS 16 u S 2 8(0) 4
S E SIS Ll e 3y 0 LA b ai
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{ Present and Past stems of Infinitives ]

Jla a3k sabs s3ls Jdas
Present Stem Past Stem Infinitives
Aie L;T Amad Lol To come o..uT
Kun oS Kard 4,8 To do oduS
Purs R Purseed diww ys To ask  Gdaw s
Khar S Khareed &ya [To purchase  (;yusya
Zan O Zad 4) To hit O
Khur J 3; Khurd dosa Toeat ydy8a
Nawis e § Nawisht Cadl 93 To write il g
Nashin Ol Nashist Crwdld Tosit  ylewds
Goi I 35 Guft s To speak u.‘isf
Farosh Ub g Farokht GA gy Tosell (¥Agy8
Saz b Sakht @il | Tomake Al
Bazi kun oSeob | Bazi Kard 3,8 sl To play ¢3S g3k
Dost dar slderwgds | Dost Dasht cofuls crwgd | To like ;yidils cr g
Shau ¥ Shud KW To be Oy
Kar HIS Kasht &l | To cultivate  oi&ls

0000000000000 000

[ Imperatives ( J—o‘ JM) J

Imperative is the word of command which is derived from the infinitive. The

word of command is generally formed by adding the prefix o to the present. The

addressee may be either singular or plural.

7 938 (To give) — o4 (Present Stem) o4 + o — s&s (Give)  wuads (plural)
sy (To go) — gy (Present Tense), gy (Go) (Singular), 4 gy (Plural)
Remember the Past stem and the Present stem of the infinitives given above.

_ZEA Ao sk sl Pl £ sler DL B
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Study the following sentences: :é,ﬂlb‘ KUM I
e s ¢ ol ol ¢ lagally
Come here, bring the book, read the lesson
i b olige 5 ¢ g om0 IS5 LY
Go outside the class, play on the field.
ssaily ¢ Lagdlosddy « slnly ¥

Come here brother, Sit down here, have tea.

When the command is negative, instead of w; a» or ¢ is added to the
imperative.
OSeosd ¢ olsag gyt
Read the lesson, don't make noise.
s g&ipgys ¢ w0
Tell the truth, do not tell lies.
Srosmm lal o wb bl

It is raining, do not go outside.

s gy Do

Translate the following : E ST
................................................... s ol )
................................................... S (9o Y
................................................... e Jlpwa Y
................................................... T CRUTFY QIS ¢
................................................... Oleas e oagol Lo

................................................... JQ@.A i
................................................... OSe yel LY

................................................... 'CH.\"L) %L.\ -A
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Study the following sentences: Iéﬂ b K UM J: 320 A

I am playing on the ground. S o 65k oo 53 (e
We are playing in the garden. i€ o sl gl e e
You are buying apples in the market. (ERA o o yliks H 6
You are buying apples in the market. A o ks yo Lad
He is making a table. 3k g0 Jaa
They are building a house. il o GLA oL
They are taking rest under the tree. i e canl iul ey g ol
I am not playing in the class. 'uS > 6ol IS 3 o
We are not playing in the house. S i g3k dla e ke
Good that you do not tell lies. (S i pagd B Kol pga
Good, you never tell lies. 8 5€ food el pan Lo R
He is not going to Mumbai. 9y o s 4
They are not going to cinema. gy o el ¢ L

In the above sentences  is added before the verb to make the tense as present

continuous. However at time ‘Go, 1s also used to express the present indefinite tense.
LDzl ‘@’ufufw-w LA o e SL LAt
- t‘ndl.»"”lu’{{_

Lie - &JJJ
Tophy = pesit
To take rest = d S cual il
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(A) Translate into your mother tongue or English: 3"5,?./"@‘5 J 4/@ gl ()
W eobesla 0
WS IS lig) Y
i€ ooy oy
2o o ol e Gig s o 0Ll g3 8
pus o b o
e by le T

(B) Write the tense of the following sentences: Z“&%LLJL u:l"? J: 3ouuH (5.«)
G, ) O PR VPR
(e, ) Sy o bt s )Y
(oo, ) el glisasys LY
(e ) S e cal it Gl yu ket

(C) Complete the following sentences in the Present tense:

2 e LS ozl (@)

(39088) e o g5 )
(dadigs) e PYSLEW-1 -
(gulgd) sooliSl ¥
((CEF-7+) R o o oala et
(Olagd) i ePoldps o

A pair of eighteenth
century Persian vases.
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